
Page
134

Manifolds & Valve Packs

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
     Phone: 1 (888) 626-4365  or  + 1 (905) 363-2400    Fax: 1 (800) 263-5807    www.lynch.ca    sales@lynch.ca

Mounting Kits - 300, 350 Series & Cross Reference

9.01.01
07/2010.C

NOTE: ** = Suffix denotes SHCS Threads and Viton Plug if applicable
300 Series
UNC SAE Kit P/N: MK 300 US
(2) MK 300 Mounting Brackets
(8) 5/16-18 x .625" Socket Head Cap Screws
(8) Internal Tooth Lock-Washers
(1) SAE-6 Plug (Viton) 

UNC NPT Kit P/N: MK 300 UN
(2) MK 300 Mounting Brackets
(8) 5/16-18 x .625" Socket Head Cap Screws
(8) Internal Tooth Lock-Washers
(1) .250" NPTF Plug
UNC Kit P/N: MK 300 U
(2) MK 300 Mounting Brackets
(8) 5/16-18 x .625" Socket Head Cap Screws
(8) Internal Tooth Lock-Washers
Metric Kit P/N: MK 300 M
(2) MK 300 Mounting Brackets
(8) M8x1.25 x 16mm Socket Head Cap Screws
(8) Internal Tooth Lock-Washers

MK400**

ISO 
INTERFACE PARALLEL CIRCUIT

SERIES CIRCUIT

D05HE
D07
D08
D10

MK700**

MK300**
MK300**

MK400**

MK500**
MK700**

MK900**

MK500**

MK500**

MK500**
MK500**

MK500**

MK500**

MK500**
MK500**

MK300**

MK300**

MK500** MK500**

MK400**

MK500**

MK500**

MK300**
w/FLANGE

HIGH
FLOWFLOW

VERY
HIGH

VERY
HIGH

w/FLANGE

STD 
FLOW

HIGH
FLOW

HIGH
FLOW

STD

D02
D03

D05

D05H

MK700**

MK500**

MK700**
MK500**

D03 (4 Bolt)

D05 (4 Bolt)

350 (4 Bolt) Series

MK300VF*

MK350VF*

UNC SAE Kit  P/N: MK 350 VFS
(1) MK 350 V - Vertical Mounting Bracket
(1) MK 350 Gasket
(4) 5/16-18x.625 Socket Head Cap Screws
(4) 5/16-18X1.00 Socket Head Cap Screws
(4) 5/16 High Collar Lock Washer
(1) SAE-6 Plug

UNC NPT Kit  P/N: MK 350 VFN
(1) MK 350 V - Vertical Mounting Bracket
(1) MK 350 Gasket
(4) 5/16-18x.625 Socket Head Cap Screws
(4) 5/16-18X1.00 Socket Head Cap Screws
(4) 5/16 High Collar Lock Washer

Metric Kit   P/N: MK 350 VFM
(1) MK 350 V - Vertical Mounting Bracket
(1) MK 350 Gasket
(4) M8 - 16mm Socket Head Cap Screws
(4) M8 - 25mm Socket Head Cap Screws
(4) M8 High Collar Lock Washer

300 4 Bolt Series
UNC SAE Kit  P/N: MK 300 VFS
(1) MK 300 V - Vertical Mounting Bracket
(1) MK 300 Gasket
(4) 5/16-18x.625 Socket Head Cap Screws
(4) 5/16-18X1.00 Socket Head Cap Screws
(4) 5/16 High Collar Lock Washer
(1) SAE-6 Plug

UNC NPT Kit  P/N: MK 300 VFN
(1) MK 300 V - Vertical Mounting Bracket
(1) MK 300 Gasket
(4) 5/16-18x.625 Socket Head Cap Screws
(4) 5/16-18X1.00 Socket Head Cap Screws
(4) 5/16 High Collar Lock Washer

300 4 Bolt Series (Continued)
Metric Kit   P/N: MK 300 VFM
(1) MK 300 V - Vertical Mounting Bracket
(1) MK 300 Gasket
(4) M8 - 16mm Socket Head Cap Screws
(4) M8 - 25mm Socket Head Cap Screws
(4) M8 High Collar Lock Washer

PARALLEL CIRCUIT SERIES CIRCUIT


